
2
3

5
⎯⎯

13

5
⎯⎯⎯

FractionMixed fraction

FractionMixed fraction

2
3

5
⎯⎯                          =                  

𝑏𝑜𝑡𝑡𝑜𝑚 × 𝑙𝑒𝑓𝑡 + 𝑡𝑜𝑝

𝑏𝑜𝑡𝑡𝑜𝑚
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

                                 =                             
5 × 2 + 3

5
⎯⎯⎯⎯⎯⎯⎯⎯

                                 =                                   
13

5
⎯⎯⎯

Fraction Mixed fraction

13

5
⎯⎯⎯                          =                                   2

3

5
⎯⎯

Bottom goes into top

bottom

remainder

𝑟𝑒𝑚𝑎𝑖𝑛𝑑𝑒𝑟 = 3

5 × 2 = 10
13 − 10 = 3

CakeMixMath − Nicholas Cragg, BCOM − 604.505.2867 − Copyright © 2012

M8 - 6.3 - Mixed Numbers Improper Fractions Notes 

   Frac Page 1    


